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59 AT BER AT — B REY T — AT REATRER Ge R1.9.19 R1.9.19 <8.03 <6.92 <15
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65 AR EER — — B REY avvr — AL REBATRER Ge R1.9.19 R1.9.19 <8.51 <1.59 <16
66 AT — — SLERT - EERA LT PIRCLLT Z D1tk M= — LT REFARER Ge R1.9.19 R1.9.19 <8.64 <8.67 <17
67 AT — — SLERT: RERAILT B Z D1tk M= — AT REARER Ge R1.9.19 R1.9.19 <8.24 <9.96 <18
68 BB — — BER-EE RIS FopG LT Z 0t H= — BT REATIRER Ge R19.19 | R1.9.19 <8.49 <6.39 <15
69 AR BEER — — B IKEY) 1) 175 AL REEFTIRER Ge R1.9.20 R1.9.20 <9.93 <6.68 <17
70 AL BER — . PIRGLLT IKEY TAFH — AL REBATRER Ge R1.9.20 R1.9.20 <8.32 <8.51 <17
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76 BB — — HERT BB RERILT IR Z 0t = — BT REATIRER Ge R19.24 | R1.9.24 <9.13 <7.97 <17
77 ARl EER — — PIRCLLT REY FaoY — AMLUTREFARER Ge R1.9.24 R1.9.24 <8.81 <8.74 <18
78 AL BER — — B REY i =D — AL REBATRER Ge R1.9.24 R1.9.24 <7.54 <7.06 <15
79 AT BEER — — BIRG LT REY F — AL REBATRER Ge R1.9.24 R1.9.24 <1.25 <8.84 <16
80 AR EER — — B REY E—<> — LT REBATRER Ge R1.9.26 R1.9.26 <6.76 <6.87 <14
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89 EER (%’%guzlxiﬁ% Z D1t — EERFEEMER Ge R1.9.24 R1.10.9 <3.6 <3.9
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